#include <time.h>

int dow (int yy, int mm, int dd){
structatm tsruct;

tsruct.g:_mday = dd;
tsruct.tm_mon = mm-1;
tsruct.tm_year = yy-1900;
tsruct.thn_hour = 0;
tsruct.tﬁw_min = 0;
tsruct.trh_sec = 1:
tsruct.tml isdst = -1;
\
return (tskuct.tm_wday);
+ \
\
\
\
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RO A n = dow (2009, 12, 25);
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void sysDate (int *yy, int *mm, int *dd){

time_t t;

struct tm *tb;

t = time(NULL);
tb = localtime(&t);

*dd = tb->tm_mday;
*mm = tb->tm_mon+1;
*yy = tb->tm_year+1900;

AL
sysDate (&y, &m, &d);

void sysTime (int *hh, int *mm, int *ss){

time_t t;

struct tm *tb;

t = time(NULL);
tb = localtime(&t);

*hh = tb->tm_hour;
*mm = tb->tm_min;
*ss = tb->tm_sec;




sysDate (&yy, &mm, &dd);
n = dow (yy,mm,dd);
printi(" & Az Yol %0211 %02iH", yy, mm, dd);

if(n==0) printf(" £ H\n");

| sysTime (&h

print

r, &min, &sec);
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, hr, min, sec);
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FH13HEZEHH#(0-6)7? LER:
i HHA7 Black Friday

n = dow (2009, 1, 13);
printf(" £ H1%i\n", n);

Q: yy? 2009
? 10
n = dow (2009, 2, 13); Z{Z{o 13

printf("ZH1%i\n", n); A: Tue (EHi7)

n = dow (2009, 3, 13); 5 51970) 2008
rintf(" 2 Hi%i\n". n): . Enter year (>197

printf("£H{%\n", n); 13/02/2009 is a Black Friday.

13/03/2009 is a Black Friday.

13/11/2009 is a Black Friday.

n = dow (2009, 12, 13);

: " HHOL i\ A" . HEPE -
printf(" 2 %i\n", n); S P BT
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main(){
int mm, vyy;
do{
printf ("\nEnter year (>1970) ");
fflush (stdin);
scanf ("%i", ___);
twhile (yy<=1970);

mm=
while(mm ){
if (...)
printf ("13/77/7?? is a Black Friday.\n");
b
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